
БОКАЛОВ HURAKAN HKNАППАРАТ ДЛЯ СУШКИ И ПОЛИРОВКGLASS POLISHING MACHINE HURAKAN HKN-GP1000

1 



БОКАЛОВ HURAKAN HKN

Ref.  Part name

1 Bottom plate 
2 M4*8  large flat head screw 
4 Fuse 
5 M5 hexagon flange nut 
6 Power cord 
7 Fan motor 
8 Power cord protector 
9 Wire buckle 

10 Air pipe bracket 
11 M5*12 round head screw 
12 Shaft assembly 
13 Heating element 
14 Heating element pressure ring
15 Belt 
16 M4 hexagon screw 
17 Main body support bar 
18 Main body 
19 Handle 
20 Switch 
21 M4*4 flat head screw 
22 Air pipe 
23 Long brush 
24 Short brush 
26 Drive shaft 
27 M4*10 hexagon stud 
28 M6*20 hexagon screw 
29 Ø6 spring pad 
30 Ø6 flat pad 
31 Ø10 non-slip pad 
32 M10 lock-proof hexagon nut
33 Key 
34 Motor 
35 Capacitor 
36 Terminal 
38 Foot 
39 Foot pad 

АППАРАТ ДЛЯ СУШКИ И ПОЛИРОВКGLASS POLISHING MACHINE HURAKAN HKN-GP1000

2 

Heating element pressure ring 

proof hexagon nut 




